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= _ R 40 0303.8(& 48.0 (46.0/50.0)
= __adt 40 1213938 53.0 (53.0/53.0)
= _ R 40 1223 )12 EE 53.0 (53.0/53.0)
= __adt 40 1313.1EE8 55.0 (50.0 / 60.0)
= _ R 40 1323.{EE2EE(E 55.0 (50.0 / 60.0 )
= _mit 40 1533 i Bk AR 238 59.0 (59.0/ )
=_BEIt 01 0203.3537 66.0 (58.0/74.0)
S_Bi 01 0303.8(2 27.5 (25.0/30.0)
=_BEIt 01 0373.4 22 g2 40.0 (40.0 / 40.0)
S_Bi 01 0383. 35 IR 40.0 (40.0 /40.0)
=_Ei 01 1213 .43 51.0 (51.0/ )
S_Bi 04 0203.253 455 (46.0/45.0)
=_BEIt 04 0303.8(& 20.0 (20.0/20.0)
S_Bi 04 0373.48F2 g2 25.0 (20.0/30.0)
=_BEIt 04 0383. 15 BL B 25.0 (20.0/30.0)
S_Bi 04 0503.F 5 475 (44.0/51.0)
=_BEIt 04 0603. 1t 38 55.0 (50.0 / 60.0 )
S_Bi 04 1213 938 440 (44.0/ )
=_BEIt 04 1503 . Bk R & 50.0 (50.0/ )
S_Bi 05 0203.253 36.5 (36.0/37.0)
=_BEIt 07 0303.8(& 38.0 (46.0/30.0)
S_Bi 10 0303.8(2 63.0 (54.0/72.0)
=2_Ei 14 0203.223 47.0 (47.0/47.0)
S_Bi 14 0503.F 52 55.0 ( 50.0 / 60.0)
=2_Ei 14 1503. 1 Bk F| 22 58.0 (58.0/ )
S_Bi 17 0303. 82 37.0(33.0/41.0)
=2_Ei 17 0373.4 82 49.0 (48.0/50.0)
S_Bi 17 0383.3 5 2 49.0 (48.0/50.0)
=2_Ei 17 12134 3% 49.0 (49.0/ )
S_Bi 19 0203.253 52.5 (55.0 /50.0)
=2_Ei 19 0303. 8722 58.0 ( 52.0 /64.0)
S_Bi 24 0203.253 59.5 (53.0 /66.0)
=2_Ei 24 0303. 8722 24.0 (28.0/20.0)
S_Bi 24 0373.4 B8 £ 475 (55.0/40.0)




=2_Ei 24 0383. 17532 5 475 (55.0/40.0)
S_Bi 24 1213. 438 50.0 (50.0/ )
=2_Ei 26 0303. 8122 53.5 (47.0/60.0)
S_Bi 27 0303.8(2 69.0 (55.0/83.0)
=2_Ei 29 0303. 822 475 (43.0/52.0)
= _ A5 06 0203.253 53.5 (52.0/55.0)
= __ 55t 10 0303. 8722 60.0 (47.0/73.0)
=5 10 0503.F 5 51.5 (53.0/50.0)
= __ 58t 12 0203.25Z 54.0 (54.0 /54.0)
*:%i%fﬁ 12 0303.8(2 30.0 (20.0/40.0)
—_ M 12 0373.4 52 g2 30.0 (20.0 /40.0)
*:%i%fﬁ 12 0383. 15 EL IR i 30.0 (20.0/40.0)
= __ 58t 13 0303. 872 46.0 (45.0/47.0)
=5 13 1213. 438 57.0 (57.0/ )
= __ 58t 16 0203.353Z 51.0 (55.0 /47.0)
*:%\%EE 16 0303.8(& 35.0 (30.0/40.0)
S 16 0373.4F 2 g2 33.5(20.0/47.0)
*:%\%EE 16 0383. 15 EL IR i 33.5(20.0/47.0)
= __ 55t 20 0203.35Z 54,5 (55.0 /54.0)
=55 22 0203.3537 55.0 (53.0 /57.0)
= __ 58t 22 1213432 51.0 (51.0/ )
*:%\%EE 26 0203.3537 40.0 (40.0/40.0)
—_ R 26 0303. 82 41.5 (43.0/40.0)
*:%\%EE 26 0373.4 22 g2 475 (55.0/40.0)
= __ 55t 26 0383.1# 5432 5% 475 (55.0/40.0)
=55 26 4503 5B 585 55.0 (56.0 /54.0)
= __ 55t 27 0303.%{%— 68.5 (50.0/87.0)
*:%\%EE 28 0373.4 22 g2 61.0 (52.0/70.0)
—_ R 28 0383.3 5 IR 5 61.0 (52.0/70.0)
*_%&EE 28 0503.F 53.5 (57.0/50.0)
= __ 55t 29 0303.8(2 64.0 (57.0/71.0)
= _ R 30 0303.8(2 41.0(41.0/41.0)
= __ 55t 30 0373.47 2812 41.0 (40.0/42.0)
= __ 55t 30 0383. 15 EL B 41.0 (40.0/42.0)
= __ 55t 30 1213432 57.0 (57.0/ )
= __ 55t 30 2423 BT B4 TE 48.0 (45.0/51.0)
= __ 55t 30 7413 5570 1% 18.0 (18.0/ )
= __ 55t 33 0203.3537 35.5(36.0/35.0)
= __ 55t 33 0503. &S 30.0 (30.0/30.0)
= __ 55t 34 0503.F 5§ 55.0 (48.0/62.0)
= __ 55t 34 1213432 49.0 (49.0/ )
=@t 02 4503255588 52.0 (54.0 /50.0)
=@t 03 0203.253 45.0 (48.0/42.0)
S_ @i 03 0303.8(& 40.0 (40.0/40.0)
= _ @i 07 0303.8(2 68.5 (57.0/80.0)
=@t 09 0103.FxZ 38.0 (38.0/38.0)
=@ 09 0303.8(2 38.0 (24.0/52.0)
=@t 09 0373.4 52 g2 56.0 (29.0/83.0)
=@ 09 0383.3 5 2 58.0 (29.0/87.0)
= _ @it 09 1213438 57.0 (57.0/ )
=@ 09 2703.528 42.0 (47.0/37.0)
=@t 09 4213 . BB ME 48.0 (36.0/60.0)
=@ 11 0303.8(2 66.5 (56.0/77.0)
5@ 12 0203.223 15.5 (16.0 /15.0)
= _ @it 12 0303. 2722 55(8.0/3.0)
5@ 12 0373.4 82 45(50/4.0)
= _ @it 12 0383.1# 55385 35(50/20)




= _fmit 12 0503. % 34.0 (28.0/40.0)
=@ 19 0303.8(2 64.0 (57.0/71.0)
= _fmit 23 0203.35Z 53.5 (56.0/51.0)
=@ 23 0303.8(2 38.5(28.0/49.0)
= _fmit 23 0373.4 82 51.0 ( 36.0 / 66.0)
=@ 23 0383. 15 EL IR i 54.0 (36.0/72.0)
= _fmit 23 1213432 53.0 (53.0/ )
=@ 24 0303.8(2 475 (43.0/52.0)
= _fmit 26 0203.25Z 46.0 (45.0 /47.0)
=@ 26 0303.8(2 345 (26.0/43.0)
= _fmit 26 0373.4 82 63.5 (54.0/73.0)
=@ 26 0383. 15 EL IR i 65.5 (54.0/77.0)
= _fmit 26 0503.F % 61.0 ( 56.0 /66.0)
=@ 30 0303.8(2 25.0 (10.0 /40.0)
= _fmit 30 0373./ 82 24.5(9.0/40.0)
=@t 30 0383. 15 EL IR i 17.5(9.0/26.0)
= _ @it 32 0303. 872 40.0 (40.0/40.0)
=it 32 1213438 57.0 (57.0/ )
= _ @it 34 0203.35Z 57.0 (51.0/63.0)
=@t 34 0303.8(2 54.0 (48.0/60.0)
= _ & 03 0203.253Z 55.0 (58.0 /52.0)
= _#E 06 0303.8(2 36.0 (44.0/28.0)
= _ & 09 0303. 82 55.0 ( 50.0 / 60.0)
= _#E 10 0203.3537 30.0 (30.0/30.0)
= _ & 10 0303. 872 14.0 (14.0/14.0)
= _#E 10 0503.F 31.0 (22.0/40.0)
= _ & 10 1213432 27.0(27.0/ )
= _#E 11 0203.3537 57.0 (54.0/60.0)
= _ & 11 0303. 82 58.0 (53.0/63.0)
= 13 0303. 82 49.0 (38.0/60.0)
= _E 18 0303.8(2 36.5(41.0/32.0)
= 19 0303.8(& 355 (31.0/40.0)
= _E 21 1213432 56.0 (56.0/ )
= 26 0303. 82 16.0 (18.0/14.0)
= _E 26 0503. & 36.5(39.0/34.0)
= _E 26 1213 .43 42.0 (42.0/ )
= _E 31 0303.8(2 61.5 (57.0/66.0)
= 32 0303. 82 44.0 (36.0/52.0)
= _E 33 0303.8(2 43.0 (38.0/48.0)
= 33 1503 3 Bk R 2 55.0 (55.0/ )
= _ 2 02 0203.253 495 (51.0/48.0)
= _ 183 02 1213438 52.0 (52.0/ )
=8 02 4213 FEHEE 61.0 (55.0/67.0)
= _ 183 03 1213 .43 57.0 (57.0/ )
=8 03 1503. 3T Bk 7| E2 55.0 (55.0/ )
=83t 06 1213 .4 3% 52.0 (52.0/ )
=8 06 1503. 3 Bk 7| E2 54.0 (54.0/ )
==t 15 0203.3537 60.5 (55.0/66.0)
=8 15 1503. 3 Bk 7| E2 57.0 (57.0/ )
==t 17 0203.3537 58.5 (57.0/60.0)
= _ 2 21 0203.253 425 (43.0/42.0)
==t 21 0503.F 59.5 (56.0 /63.0)
= _ 2 21 1213 432 48.0 (48.0/ )
=83t 21 4843 2R EE 440 (44.0/)
= _ 2 24 ozos.%i& 57.5 (54.0 /61.0)
=83t 24 1503.3th Bk R} 22 57.0(57.0/ )
= _ 2 27 0203.253 41.0 (42.0/40.0)




=8t 27 1213432 52.0 (52.0/ )
=2 27 1503 .} Bk R & 53.0 (53.0/ )
=8t 29 0203.35Z 30.5(30.0/31.0)
= _ & 06 0203.253 47.0 (47.0/47.0)
= _ 8 06 0303. 822 59.0 (52.0/66.0)
= _ & 09 0503.F 5 53.5 (55.0/52.0)
= _ 8 10 0103.[ 59.0 (54.0 /64.0)
= _ & 10 0203.2537 485 (51.0/46.0)
= _ 8 10 0303. 8722 56.0 (50.0 /62.0)
= _ & 10 0503.F 5 57.5 (55.0 /60.0)
= _ 8 10 4213.FEBEHEE 57.5 (50.0 / 65.0)
= _ &N 12 0303.8(& 56.5 (51.0/62.0)
= _ 8 13 0303. 872 53.0 (54.0 /52.0)
= _ &N 13 1313/ 54.0 (54.0/ )
= _ 8 14 4503. 2B 528 44.0 (45.0/43.0)
= _ &N 16 0103.[#3Z 485 (57.0/40.0)
= _ 8 16 0303. 872 28.0 (34.0/22.0)
= _ &N 16 0373.4 22 g2 31.5(23.0/40.0)
= _ 8 16 0383.1# 5432 5% 36.5 (23.0/50.0)
= _ &N 16 1313/ 54.0 (54.0/ )
= _ 8 16 4213.FEEHEE 30.5 (41.0/20.0)
= E 21 0303.8(2 65.5 (57.0/74.0)
= _ 8 27 1313.{E2 56.0 (56.0/ )
=5 E 27 1413.4Y) 58.0 (58.0/ )
= __ 5t 31 0203.353 56.0 (56.0 /56.0)
= E 31 13132 47.0(47.0/)
= _ 8 33 0303. 872 40.0 (40.0/40.0)
= _ &N 35 1213. 438 65.0 (55.0/75.0)
= _ 8 35 1223 43R E(E 55.0 (55.0/ )
= _ 5 36 0203.3537 44.0 (48.0/40.0)
=& 36 0303.8(2 29.0 (18.0/40.0)
= _ 5 36 0383. 15 BL B 415 (23.0/60.0)
=& 36 1213 938 51.0 (42.0/60.0)
= _ 81 36 1223 Y3 E(E 42.0 (42.0/ )
=& 36 1313.1EE 29.0 (29.0/ )
= _ 5 36 1323.1EERE(E 29.0 (29.0/ )
= _ it 02 0103.E3Z 41.5(42.0/41.0)
ST 02 0203.3537 435 (51.0/36.0)
= _ it 02 0303. 872 6.0(9.0/3.0)
ST 02 0373.4 22 g2 2.0(4.0/0.0)
=it 02 0383.1# 5532 5® 2.0(4.0/0.0)
ST 02 1313/ 50.0 (50.0/ )
=it 02 4213 FEHEE 43.0 (45.0/41.0)
ST 02 | 4823.3LLiWalker 12.0 (12.0/ )
= _ it 05 0203.2537 35.0 (40.0/30.0)
=t 05 0303. 8722 28.0 (22.0/34.0)
= _ it 05 0373.4 B 82 43.5(49.0/38.0)
=T 05 038335 5 B 5 435 (49.0/38.0)
= _ it 08 0303. 82 40.0 (28.0/52.0)
=t 11 0303. 8722 59.5 (51.0/68.0)
= _ it 13 0303.8(2 56.0 (51.0/61.0)
=t 13 13131522 56.0 (56.0/ )
= _ it 14 0303.8(2 32.0(32.0/32.0)
=t 14 0373.4 82 56.5 ( 58.0 / 55.0 )
= _ it 14 0383. 35 IR 56.5 (58.0 /55.0)
=t 14 131322 55.0 (55.0/ )
= _ it 15 0203.253 45.0 (50.0 /40.0)




= _ bt 15 0303. 822 32.5(23.0/42.0)
= it 15 0373.4 22 g2 39.0 (40.0/38.0)
=t 15 0383. 17532 5% 39.0 (40.0/38.0)
= it 15 1313.{E2 48.0 (48.0/ )

=t 17 0303. 822 59.0 (55.0/63.0)
= @it 23 0303.8(& 20.0 (22.0/18.0)
=t 26 0303. 8722 35.0 (40.0/30.0)
= it 27 0303.8(2 455 (43.0/48.0)
=t 30 0303. 8722 56.0 ( 55.0 /57.0)
= it 34 0303.8(2 12.5(22.0/3.0)
=t 35 0203.353Z 445 (49.0/40.0)
= @it 35 0303.8(& 26.0 (30.0/22.0)
=t 35 0383. 17532 5% 65.0 (50.0 /80.0)
= it 35 1213. 438 425 (45.0/40.0)
= _ bt 35 1223 43R E(E 45.0 (45.0/ )

= @it 35 1313.{E2 450 (45.0/ )

= _ bt 35 1323.{LEAEE(E 45.0 (45.0/ )

= Wit 36 1313.{E2 57.0 (57.0/ )

= _ bt 36 1323.{LE2EE(E 57.0 (57.0/ )

5_EN 06 0303.8(2 66.0 (55.0/77.0)
=B 06 13132 56.0 (56.0/ )

5_BH 06 1413.%E4) 52.0 (52.0/ )

=B 10 0303. 82 50.5 (40.0/61.0)
5_EN 10 0373.4 22 g2 61.0 (50.0/72.0)
=B 10 0383.1# 5432 5% 61.0 (50.0/72.0)
5B 11 0203.353Z 53.0 (52.0/54.0)
=B 11 0303. 872 55.5 ( 55.0 /56.0 )
5B 11 4503. 558 827 46.0 (50.0/42.0)
=B 12 0303. 82 42.0 (42.0/42.0)
=_BI 12 0373.4 %2 g2 52.0 (54.0 /50.0)
5_BE 12 0383. 35 IR 52.0 (54.0 /50.0)
=_BI 18 0303.8(& 495 (49.0/50.0)
5_BE 18 1313.1EE 53.0 (53.0/ )

=_BI 21 0303. 82 52.5 (53.0/52.0)
5_BE 22 0203.253 40.5 (41.0/40.0)
=_BI 22 0303.8(& 44.0 (42.0/46.0)
5_BE 22 0373.48F2 g2 55.0 (55.0 /55.0)
=_BI 22 0383. 15 BL B 55.0 ( 55.0 /55.0)
5_BE 22 0503.F 5 62.0 (57.0/67.0)
5 _Bi 22 0603.3t1 32 495 (47.0/52.0)
5_BE 22 1313.1EE 44.0 (44.0/ )

5 _Bi 22 1413.44) 57.0 (57.0/ )

5_BE 23 0203.253 51.0 (56.0 /46.0)
=_BI 27 0303.8(& 51.5 (43.0/60.0)
5_B 27 1313.1E2 54.0 (54.0/ )

= _BIi 28 13131522 54.0 (54.0/ )

5_BH 29 0203.253 40.0 (40.0 / 40.0)
= _BIi 29 0213.ZF 50 38.0 (37.0/39.0)
5_BH 29 0373.4 282 425 (50.0/35.0)
=_B 29 03833 5 B 5 425 (50.0/35.0)
5_BH 29 1313.1E2 48.0 (48.0/ )

= _BIi 29 1413.4%%) 58.0 (58.0/ )

5_BH 30 0303.8(2 56.5 (49.0 / 64.0)
= _BIi 31 0203.223 455 (46.0 /45.0)
5_B 31 0303.8(2 40.0 (40.0/40.0)
= _BIi 32 131322 45.0 (45.0/ )

=_BI 35 0103.FxZ 57.0 (54.0 /60.0)




= _ B 35 0303. 822 54.5(34.0/75.0)
5_BH 35 0383. 15 EL IR i 62.5 (51.0/74.0)
=B 35 1213432 58.0 (46.0/70.0)
5_B 35 1223 931 1(E 46.0 (46.0/ )
=B 35 131312 44.0 (44.0/ )
5_B 35 1323 440 (44.0/ )
=B 35 2603. 455 RIR 50.0 ( 50.0/ )
=B 04 0303.8(2 56.0 (48.0/64.0)
= _ Bt 05 0203.25Z 43,5 (43.0/44.0)
=B 05 0303.8(2 51.0 (42.0/60.0)
=Bt 05 0503.F % 58.0 ( 56.0 / 60.0)
=B 05 0603. 1t 38 50.0 ( 50.0 /50.0 )
=Bt 05 4503. 3 ;5527 40.5 (45.0/36.0)
=B 06 0303.8(2 15.5 (19.0/12.0)
=Bt 09 4503. 2B 528 46.0 (47.0/45.0)
=B 10 0303.8(& 63.0 (54.0/72.0)
= __ Bt 16 0203.353 31.0 (42.0/20.0)
=B 16 0303.8(2 27.5 (45.0/10.0)
=Bt 16 0503. &% 51.0 (48.0 /54.0)
=B 16 1313/ 56.0 (56.0/ )
=Bt 24 0303. 82 43.0 (19.0/67.0)
=B 24 0373.4 22 g2 60.0 (40.0/80.0)
=Bt 24 0383.1# 5432 5% 60.0 (40.0/80.0)
=B 24 0503.F 55.5 (50.0 /61.0)
=Bt 24 1413.4%%) 24.0(24.0/ )
=B 24 2703.528 55.0 (50.0 / 60.0 )
= __ Bt 25 0203.353 37.5(34.0/41.0)
=B 25 0303.8(2 25.0 (21.0/29.0)
=Bt 25 13132 58.0 (58.0/ )
=B 32 0303. 82 475 (37.0/58.0)
= _ B 32 1313.1EE 37.0 (37.0/ )
=B 35 1213 .43 55.5 (41.0/70.0)
= _ B 35 1223 Y1 E(E 41.0 (41.0/ )
=_BIt 01 0203.3537 39.5 (39.0/40.0)
=_HIi 01 0303.8(2 20.0 (20.0/20.0)
=_BIt 01 0373.4 22 g2 25.0 (30.0/20.0)
=_HIi 01 0383. 35 2 25.0 (30.0/20.0)
=_EIit 01 131312 45.0(45.0/ )
=_HBIt 01 1413.4%4%) 52.0 (52.0/ )
=_BIt 01 4503 = 55525 54.5 (55.0 /54.0)
=_HIi 05 1313.1EE 51.0 (51.0/ )
=_BIt 12 0303.8(& 56.0 (52.0/60.0)
=_HIi 16 0203.253 46.5 (58.0/35.0)
=_BIt 16 0303.8(& 40.0 (40.0/40.0)
=_HBIji 16 0373.4 B8 E2 425 (40.0/45.0)
= _Eit 16 0383. 17532 5 425 (40.0/45.0)
=_HBIji 16 1313.1E2 33.0(33.0/ )
= _Eit 16 1413.4%%) 54.0 (54.0/ )
=_HBIji 16 4633. AN HEE 40.5 (41.0/40.0)
= _Eit 17 0303. 8722 64.0 (56.0/72.0)
=_HBIji 17 1313.1E2 49.0 (49.0/ )
= _Eit 19 13131522 41.0 (41.0/ )
=_HBIji 19 1413.4%4) 36.0 (36.0/ )
= _BI 20 0203.3537 35.5(36.0/35.0)
=_HIji 20 0603. 37 ¥ 56.5 (52.0 /61.0)
=_Eit 20 131322 35.0(35.0/ )
=_HIji 25 0203.253 60.0 (57.0/63.0)




= _HEit 25 0303. 822 65.0 (55.0/75.0)
5_H2i 27 0203.2537 51.5 (55.0/48.0)
= _HEit 27 0213.EF50# 56.0 ( 55.0 /57.0)
5_H2i 27 0303.8(2 62.5 (55.0/70.0)
= _HBI 27 0373.4 52 g2 54.0 (45.0/63.0)
5_H2i 27 0383. 15 EL IR i 54.0 (45.0/63.0)
= _HEIit 27 13131 58.0 (58.0/ )
5_H2i 27 4503. 275525 57.5 (58.0 /57.0)
= _HEIit 28 0303. 8722 55.5 (50.0 /61.0)
5_H2i 28 1313.{E2 34.0(34.0/ )
= _HEit 28 1413.5%) 42.0 (42.0/ )
5_H2i 30 0203.2537 25.5 (27.0/24.0)
= _HEit 30 0213.ZF 50 54.0 (55.0/53.0)
5_H2i 30 0303.8(2 17.5 (15.0 / 20.0)
= _HBI 30 0373.4 52 g2 20.0 (20.0/20.0)
=_HIj 30 0383. 15 EL IR i 20.0 (20.0/20.0)
= _HEIit 30 1313162 40.0 (40.0/ )
=_HBIji 30 1413.%E4) 56.0 (56.0/ )
= _HEIit 30 7413 5570 1% 40.0 (40.0/ )
=_EBIji 34 0203.3537 47.0 (49.0/45.0)
=_HEIit 34 0303. 82 52.5 (45.0/60.0)
=_HBIji 34 0373.4 22 g2 50.0 (45.0 /55.0)
=_HEIit 34 0383.1# 5432 5% 50.0 ( 45.0 /55.0)
=_EBEi 34 13132 44.0(44.0/)
= _HEIit 34 1413.4%%) 39.0(39.0/ )
=_EBIji 35 0203.3537 47.0 (44.0/50.0)
= _HEIit 36 0503. &% 60.0 (56.0 /64.0)
=_EBIji 36 1213. 438 53.0 (48.0/58.0)
= _HEIit 36 1223 43R E(E 48.0 (48.0/ )
=_BIt 36 1313/ 49.0(49.0/ )
=_Eit 36 1323.{EE2EE(E 49.0 (49.0/ )
= _ = 02 0303.8(& 66.5 (57.0/76.0)
B _= 03 0303.8(2 40.5 (40.0/41.0)
= _ = 03 0373.4 22 g2 35.0 (27.0/43.0)
B _= 03 0383. 35 IR 35.0 (27.0/43.0)
= _ =3 03 1413.44) 49.0(49.0/)
B _= 04 0303.8(2 36.0 (30.0/42.0)
= _ = 04 0373.4 22 g2 32.0(21.0/43.0)
B _= 04 0383. 35 IR 32.0(21.0/43.0)
= _ = 11 0303.8(& 52.5 (43.0/62.0)
B _= 11 1313.1EE 51.0 (51.0/ )
= _ =i 12 13132 56.0 (56.0/ )
B _= 14 0303.8(2 50.5 (47.0 /54.0)
= _ =i 15 0303.8(2 41.0(41.0/41.0)
= _=I 15 1313.1E2 45.0 (45.0/ )
== 15 1413.4%%) 51.0 (51.0/ )
= _=I 16 0303.8(2 475 (46.0/49.0)
== 16 1313122 53.0 (53.0/ )
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